LREEAONL: E2v

Bt RE
Rk 284 3H 31H HIE
(Bf7 : M)
' E 0 a2 & o
EES: # S AT EER B oW YEER ATEBER B R
TRENVEPE 18,177, 821 17, 014, 928 1,162,893 | fiBIALE 1, 668, 632 1, 595, 353 73, 279
HeTES 2, 382, 065 3, 265, 312 A883,247| FEERIE 732, 416 816, 441 A\B84, 025
FERINE 15, 689, 129 13, 631, 374 2,057,755 | FOMORILE 560, 272 395, 577 164, 695
RIN& 98, 937 110, 552 All,615] HBHEY4& 375, 944 383, 335 AT,391
EIIE7 % 7, 690 7, 690 0
E & rE 66, 559, 734 74, 524, 789 AT7,965,055 | EEAE 15, 726, 620 18, 026, 348 A2, 299, 728
FEARRPE 60, 603, 871 68, 392, 044 A7,788,173| REHEEEEHEAE 11, 194, 000 14, 050, 000 A2, 856, 000
i 1 70, 600 70, 600 0 BEkAR(TSI%4& 4,532, 620 3,976, 348 556, 272
=17 60, 533, 271 68, 321, 444 AT7,788,173 BEOEHAE 17, 395, 252 19, 621, 701 A2, 226, 449
T DD EEEE 5, 955, 863 6, 132, 745 A176, 882 Woa DB
Y 112, 643 121, 643 A9, 000 | EAE 9, 246, 600 9, 246, 600 0
Bk O%EE 291, 951 322, 047 A30,096 | F1FEEAERE 9, 246, 600 9, 246, 600 0
HmER R 331, 258 936, 547 A605, 289 | EEMEISERERIREILE 35,602, 718 41, 745, 932 A6, 143, 214
# B K UM b 174, 604 216, 414 A41,810 | ZDMDFENE 0 0 0
HEF 382, 787 429, 746 A\46, 959 | IR Bh I8 2= 4R 22, 492, 985 20, 925, 484 1,567, 501
REHMAES 100, 000 100, 000 0] (5 bYHTEEIHEBZER) 1, 567, 501 0 1,567, 501
BB Y& RE 4,532, 620 0 4,532, 620
BRI HTRIT & 0 3,976, 348 A3, 976, 348
T D DEEEE 30, 000 30, 000 0 WMEEDLEF 67, 342, 303 71,918, 016 A4, 575,713
BEOLAF 84, 7317, 555 91, 539, 717 A6, 802, 162 AER WG E DR A R 84, 737, 555 91,539, 717 /6, 802, 162




F1E5 D1

EENKHEE
(B) YRk 274 4H 1H (E) gk 284 3H 31A
(BfAL : M)
B E B B FEMW RE (B) =2 (A)-(B) g &
BEFIEEEIA 3, 207, 000 3, 189, 789 17,211
EERAY — R EFEIA 49, 100, 000 48, 599, 810 500, 190
I o R S ST 23, 000 23, 000 0
EAPNE LR TR IN 1,000 586 414
% Z DDA 920, 000 966, 800 A46, 800
& FEEBRAG (1) 53, 251, 000 52, 779, 985 471,015
| I AFERXH 32, 549, 000 32, 085, 724 463, 276
% LRI 8, 032, 000 7,715, 510 316, 490
I | X | EB R 4, 209, 000 3,748, 922 460, 078
X |y RREEFHEI M 5, 540, 000 5,321, 226 218, 774
IHFIEZH 380, 000 372, 989 7,011
FERITHE @) 50, 710, 000 49, 244, 371 1, 465, 629
FERBESIZRE 3)=(1D)-(2) 2, 541, 000 3, 535, 614 A\994, 614
5 |y | B A B A M A 400, 000 400, 000 0
& |EEEERARA 10, 000 10, 000 0
% A MEEREREINAS (4) 410, 000 410, 000 0
rx
X
% |H _ _
g MEREHFEXZME (6) 0 0 0
X MERERSESINTZE (6)=(4)-(5) 410, 000 410, 000 0
Z I
)
ﬂg Z D OEBIRAG (7) 0 0 0
= [REEEESEASTEMERH 2, 856, 000 2, 856, 000 0
D%
g H
I ZDOMDOTEBNZHET (8) 2, 856, 000 2, 856, 000 0
X ZOMOEBHELNZEE (9)=(D-8) A2, 856, 000 A2, 856, 000 0
TFHEEXH (10) 110, 000 . 95. 000
A15, 000 ’
YHBE SN TEEAR (1D)=(3)+(6)+(9)-(10) 0 1, 089, 614 A1, 089,614
AR ESER (12) 15, 419, 575 15, 419, 575 0
YR HESEE (11)+(12) 15, 419, 575 16, 509, 189 A1, 089,614




HEoBED IR

HEEHHESE
(B) YRR 27# 48 1H (E) Rk 284 3H 31H
(BAL : F)
B E #® B WERFRE (A) ATEEERE (B) HE () - (B)
B BRI 3, 189, 789 0 3,189, 789
I | i@k — b R SIS 48, 599, 810 0 48, 599, 810
*fk 7 R R F TSNS 23, 000 0 23,000
= Y — A EBIEEE (1) 51, 812, 599 0 51, 812, 599
R NG 32, 085, 724 0 32, 085, 724
g FEE 7,715,510 0 7,715,510
1o | B (e 3,748, 922 0 3, 748, 922
?})ﬁ i IREEF LR A 5, 321, 226 0 5,321, 226
0 oAk ESIE = 8, 237, 536 0 8, 237, 536
P—EREBE A (2) 57, 108, 918 0 57,108, 918
Y—ERAEEERER (3)=(1)-(2) A5, 296, 319 0 Ab5, 296, 319
o | [ ORI BB S A 586 0 586
|| |[ERhoY— e A EBSM 966, 800 0 966, 800
= & ¥ — b R EBSNEER (@) 967, 386 0 967, 386
= [XBFE 372,989 0 372,989
B
i -
g i
D P—ERAEESNE AR (5) 372, 989 0 372, 989
il Y — U REBSMEBEE (6)=(4)-(5) 594, 397 0 594, 397
REEBERR (1)=(3)+(6) A4, 701,922 0 A4, 701, 922
iy PRSP 4 400, 000 0 400, 000
¥
Bl |4 KRl IEEr (8) 400, 000 0 400, 000
% w |EERERAE - 0518 273, 791 0 273, 791
0| |[EEMBESENELSBRE (RI%) A6, 143, 214 A0 A6, 143, 214
i | %RIBAE (9 A5, 869, 423 0 A5, 869, 423
RERIEVRZERR (10)=(8)-(9) 6, 269, 423 0 6, 269, 423
LHEEERERE (11)=(7)+(10) 1, 567, 501 0 1, 567, 501
o AT AR BTE B AR (12) 20, 925, 484 20, 925, 484 0
B L RAR IR B BEERE (13)=(11) +(12) 22, 492, 985 20, 925, 484 1, 567, 501
Bk emiiE (14 0 0 0
B | E DM DOFEL ST (15) 0 0 0
ﬂ% F OO SR (16) 0 0 0
2
BB |k S M TE B EAEE R (17)=(13)+(14) +(15) - (16) 22, 492, 985 20, 925, 484 1, 567, 501




